oI A e 7 Tl
m'ggﬁ (B) .g-e-ﬂ-r[:: (€) &

(A) Ministry of Culture

(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of Youth Affairs and Sports

4. T oieTe Ieftes enfher @ Sl SunTeRdl s et ATt SEes Teui 7T et ST 9T HET aSar € |

(A) TEfEm (B) 9EaH Fr = aQ(C} GrEateifrT

) involves online harassment where the E.j:r 15 subjected to a plethora of online messages and

emails.

P o i () T ()

%) i fesrr (GO 7 i S

(B) s
() m%w o7 312 Sl 61 Tt 1 e

(I 'ﬂﬁﬁa: i) E{;s
R et R |
The y; ' ;
Tlgu.‘ . (o]
(A) Eyy ;T “Te Human Development Index (ﬁD[) is to -
(B) Agqe, . Vironmental sustainability S/

. 2 gyer .
:B; Track 1, m‘;‘]ﬁrdlll well-being and quality of life of individuals
_____ (D) Meggy, . O&ical advancements

* . ial of Nagaland ? -
T;B! T:;:;:;?mﬁ (B) Itanagar ((j) Guwahati
im. ﬁt‘()PZﬁWEWﬁﬂﬁTiﬁ%ﬂﬂ‘ﬂﬁﬁﬁé}

A) (B) WG ~C 20‘2]' :
\3;-111;!1 country hosted the COP26 Climate Confere%tse in h}-mistim
(A) Canada (B) India BE{'C} Afg |
Wwwmwﬁawm{gﬁﬂé@w% ?
(A) EEFf AT o2
(B) omw Ijc
(C) TEHAE o=
(D) AT T AN G HAE ®)

(A) Phishing (B) Identity theft SC} Cyberstalking
5. aﬁwﬁﬁmﬁmﬁw&%wﬁr%%ﬁmmﬁ@%ﬁamﬁw%nwﬁa%mwm?

UP Police Constable Question Paper 31 Aug 2024 1st Shift

(D) FHifeA!

(D) Kohima

[D] EIL'QF (UK}

(D) UK

The quarterly newspaper “Cyber Pravah” is an initiative launched by which Ministry ?

(D) dfATH

(D) Botnets

(A) Ter gant BIB) 37t Weye

(C) HereT FHFHE (D) o FTHCAT 18T 311 fefirht were

Who was awarded the Nobel Peace Prize in 2021 for the efforts to protect freedom of expression 7
(A) Greta Thunberg (B) Abiy Ahmed

(C) Malala Yousafzai O[D_] Maria Ressa and Dmitry Muratoy
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' i fepn 2
Prferfia 1 & R awi qrarftfores aebenTadT 1 fergia yfemrfad e

il c) 9% ke ps®
(A dpmﬁum (B) q’i (  olitical ratmnﬂhty i :
w:\ ho among the following |'|rupnun-.icd the ‘Saptanga’ Theory ﬂfk[;” (D) Kautilya
(A) Tulsidas (B) Manu (C} Chara
b9, IATVRY F ITH Wed ﬁwmm?" ; (D) ﬁuﬁﬂm
(A) foum wes (B) e & (c) forer et . y
What is the Uttar Pradesh Upper House known asc%) : A (D) Vidhan Parisha ,
(A) VidhanMahal  (B) Vidhan Sabha 2 (C) Vidhan Mandahmauhm%?
Frferfias # & war o s samm ST 1 Ee

(A)  E STV it o e A
(B) % 0 Ut vzt @ firerst hor 3 WK Uh-gHOA] B
5 TEl |
T T s %.Hrg@ﬂiaﬁaﬁm“ﬂﬁ%% > ok sl 35 T SR AT AT |
(C) % Sgifer gfam & it v ot ey 3 forere 3 Rl : 2
(D) 1% e i & o gon v o1 3yl = AT 96 T tum entanglement ?
Which of the following statement best describes the CUFcept’t?f}qum 4
(A) Itis the effect of gravitational waves on subatomic particles. e icle instanih
(B) It is a phenomenon where particles remain comjccted such that the state of one particle instani)
influences the state of another, regardless of the distance between them.

(C) It is the theoretical framework explaining tl@behaviollr of particles at speeds approaching the speef
of light.

(D) Itis the process by which particles are heat@u extremely high temperatures.
31, ST HUSE TR AT (VAT) b 7 A1 v g

In which year was VAT introduced at the State IeEﬂ in India ? *
(A)e 2006 (B) 2001 22 (C) 2005 (D) 2000
32. ﬁmﬁa@ﬁﬁﬁﬁm.mwwﬂﬁuaﬁmﬁﬁmﬂg@ﬁm?ﬁ% ?
(a) = 5% (B) » stirsht e
‘i’nc'.‘jich‘or.':-hc following languages is not incl d d@m) i .' i
(A) Urdy ; uded in the Eighth Schedule of the Indian Constitution ?
(© Tarmil (B) English

\ : (D) Sanskrit
:j‘jjﬁ’” F’_’:ﬂ’*i q 0 fored Heifig 2 -

! (©) P2t s () (B)* forateret sqpeiy

;ﬁmcfc 340 of the Indjan Constitution deals wigh O (D) ¥T & gar AT
A)  Finance Commission b

(C) lHackward Classes Commission [:] (3) Election Commission
M., ynFh ® FfEn : 2 (D) Union Public Service Commission 42.
ik o (ST o) oy o
(B) EWW@? [j ﬁ
) Tt AT 37 H 1T ) £ )
. . Fo
‘A) A hig ]R-.Ed Corridor” in Ingig 9 O )
,_r ? B, ar{:;s;;::!:}:dzone in the capita] ]1
(C . : C 2 by N . . £ I
. ®) r;ur;ld(:-r for in ema:i*::llliﬁ-Mamst Insurgency o e '_:
A= RO known g 1 e rade ﬁ V.z-2
LH""“*--'..?I_“:ISt atfractiong 2

"""""""""""""
________________________



7. TemEEmdE_ mawEd

W) (B) «
(C) #3ireir e (Refiaron 0 Yal"*:q?fﬂmh,
The yellowness of the Taj Mahal is an effect of _.:)

(A) Pollution _'(7"_\

B) Allergens

(C) Ozone depletion ,}3-{:350) s
rain
8. ety doieraw e st R 2 0 L]
(A) U (B) amwaY o8
Where is the Indian Institute of Petroleum localcdmc) 'Q:rﬁ (D) feeedt
o (B) Amethi SNC) Chenna (D) Delhi
9. ﬁﬁﬁmmmaﬁmﬁﬁﬁg&% 3 5 s
o 7% & TR ot T T SR 1 e 3 o s e 3
(A) SriErE e

(B) = STT5eq Aet arizrery
(©) @Gﬁmﬁ- mmﬂﬁ L{D) Iﬂgﬁ

What term describes the global movement for gendet equality, women'’s empowerment and the eli mination

%

of discrimination and violence against women ? ()

(A) Feminist Movement >8(B) Black Lives Matter Movement
(€) LGBTQ + Rights Movement [T¥D) MeToo Movement
10.  SES WRHR 39=0mg e F e e E 2 odf
(A) sbufyim [y msftimeiz
(C) . TR S(D) Tl &
Who is the author of the famous Indian novel ‘Gofian’ ?
(A) Arundhati Roy (B) Munshi Premchand

(CY] RE, Narayan (D) Rabindranath Tagore

(D 2016 % AEdwo F A wwa F R FRT? i (D) e dare
(A) =ifa wme (B) «3780T Sfeelt L:'E{CJ m tion ?
Who was the Finance Minister of India during 201‘%{??01:;;;173 I'u.-Iodj (D) Nirmala Sitharaman
(A) Amit Shah (B) Arun Jaitley e
12.  SITE %1 Raea #1 2 ? ot
(A) HeeTTEz Sy efifas TEeT fﬂr
(B) W Smmer defifasm wraime e

(C)» 2T Hftczapyra defifaw prdfie. O
(D) Hemse SgavEe Yefifae wRETE e

What does SITE stand for ? : e
(A) Satellite Instructional Television Educ'an?ﬂl .
(B) Source Instructional Television E"Per'!m::u

(C) Satellite Institutional Television EXper™. gt b

(D) Satellite Instructional Television Expert ofy s (R

4 ) P
T e = Wﬁg md U.f-a s l} QPJUF ;
. - ] L A [ h;
g3, HET AU SN (reuT T wTef} Emirales D) P
A) TYIRSE (B) 1 ML o ATAD rgjairad e
( ted Fu 4 e,
What is the capital of the Federatton of Uni () BTl e~

(B) Abu Dhab_i‘ < ',;ﬂg‘w’y




14, T ST A SR e e 3 o vt o el o e &1 o o o e g SR
a  TET A o fe |
b, 3 ST I W (ACLS) # THIH |
o Torfeemer S Aftin & =paw 2 & & o |
4. Svea-sTEie e H 60% 3 |
£,
£

s OO
sy
3
g
L

ferdrot
aﬁwﬁm#wmquﬁ%ﬁm;mﬁ b L

Az safean e i 3 T el
o ) O T 8

af FeliaaT T S SRl 5

il -
qﬁgm%mm,ﬁmﬁﬁ%ﬁmwmﬁaﬁaﬁra@? ¢ wpsl T
B So. AT, ACLS Yoo, $2g # 63% 3% 51H | S g 4 i
A esfeer ol = L (o ST .
({B)) mﬁéaﬁiaﬁﬁmﬁi%ﬁqﬁﬁﬁﬂﬂ%nﬂﬁﬁﬁﬁmg
() Fobres & s wh%mm .
[y e o = A T ST . T, )
L&_..:mspi.ta‘. is recruiting nurses for 1ts Intensive Care Uit The criterid for selection are as follows :
! ﬂ, " Bachelor’s degree in Nursing.

Certification in Advanced Cardiac Life Support (éSf:LS):
ursing.

Minimum of 2 years of experience in Critical Ca

Score of 60% marks in a competency-based intervigw. . : |
If the candidate does not have ACLS certifications-§ne case 15 to be referred to the senior specialst

b i i P 50 0 i
If the candidate does not scote mMINIMUMmM marks in:the interview, the case 1s to be referred to Healol

' Nursing Department. @
g If the candidate satisfies all other qualifications @lept work experience, the case is to be referred 0
the Director of the Centre,
Based on the scenario, what course of action should be taken for Priya Singh ?
B.Sc. Nursing, ACLS certified, Scored 63% marks in the interview. Experience of 8 years ingluding*
years in Intensive. Care Units,
(A) Candidate is not to be selected
(B) Case is to be referred to the Head of Nursing Dc;ﬂéﬁtment for further review
(C) Data is inadeguate to make a decision f
(D) Candidate is to be selected for the nursing positia{gﬁ

45. Forerfeifiaa & & wedt % FH-0 1S o # waw ST T § 0

(A) T -E (B) o —&wet (C) St — Tt (D) 7 -3
Which of the following pairs of words are most similat.i meaning ? ;
{A) Hot- Cold (B) Hard - Easy (é.?- Quick — Fast (D) Happy - o 2

6. 1 3 et < 4 e . -
1?‘: pl:ial;jjs New Y &) e (C) wafE s =t (D) i3 & Oﬂﬁ_fﬁ
" r-::;k. for Londc:{n at 3:00 p.m. (local time) and the flight duration. is of 7 b
(e if London is 5 hours ahead of New York ? s

W " (B) 6 am. (C) 5 am. (D) 3 a_m,“-_’_,..—'

Page 8 of 24
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ST.

58.

3 AT gl F1d ‘f-”ﬁ]”l |

nagedn the series

HTE™A]
Find 1]u m i im
|

b
-8

o 105 Hiet S el mafam“rﬂéa‘?raﬁﬂ

mA%ﬂﬂnaﬁﬁﬁEﬁmﬁﬁﬂwﬁ n\ﬁﬂmaﬂm?
(A) 3 fie, 40 08 ® {B}, 7 e, 48 HHIE
(Cy 3fe 4R EETS (D) > fire, 44 TS

: etres long,
g 1088 ther train 175 m
A train 105 metres long travels at 60 km/hr. How long does it take to cross ano

A 7
running at 54 km/ hr in ‘the same direction ?
conds
(A) 3 minutes, 40 seconds (B) 2 minutes, 48 seco

(C) 3 minutes, 48 seconds (D) 2 minutes, 44 seconds

wmwmﬁwmmarnaﬁmﬁ%|mwmwmw@wﬁﬁé@m%fﬂ€€réaﬁﬁ
SIS T F A t.quaJ.awusmw%mﬁmﬁwamsurﬁ; e 2. A 98 ol 39 T T

i (FFftEa ) F e Ew?
Two guns are fired from the same place at -unterval of 9 minutes. A person approaching the place
observes that 8 minutes 48 seconds have klapf ~d!between the hearing of the sound of the two guns. If the
velocity of the sound is 330 m/s, at what spccd%a the person approaching that place (in km/hr) ?
(A) 36 (B) 27 ] © x (D)a29

e Tifa 7, 60% TRER] F UH TE T E, 30% afERl & oy e g 2 3T 152 Wﬂ?ﬁﬁﬂﬂﬁ%%ﬂ%?ﬂq
s 3o oA 2 |mqa?r%nqﬁantaﬁ%|@m%mﬁﬂrﬁ#wmmﬁqnﬁ%v
In a village, 60% of families have a cow, 30% of families have a buffalo and each of the 15% of familieg

has both a cow and a buffalo. In all, there are 960 families in the village. How many families do not h:
cow or a buffalo ? avea

1. wgfrmmqmeeﬁfmfm wmmnm%la?ﬁﬂwﬁqﬁﬁam%aﬂrﬁmﬁfs uft sty
v s 2, o 37.59% T BT 8 | A1 STeSR] ST g o, T 1 99 & e o & Wy
fa['altr! VT :11“]11\,«\?{1T§j}rj11r¢ of milk. He rlhu'l glddx water in the milk and sells the mixture at‘fgpe li

eby making a 37.5% profit. What is the ortion of wate -
customers 7 P 5 P:P?p tomilk, dg s received by the
(A) 1:2 : A
Y 12l (B) 1:10 ~ (©) 1:20 D) 1:15

62. 135,171, 192 %1 Hgam qumads (HCF) 914 i | :
Find the HCF of 135. 171. 192, | ]
(A) B :
(B) 10 ), 2 (D

hvi 3 qr
TEY 98 e

" Find the sk “'147f~,mﬁm 310, 550 3 r?haﬁ‘ﬂfﬁﬁﬁwmﬁﬂf; _‘1 ¥ 1)
|..-:\L-: greatest pumhber w[m'}]_‘-.:hu] divi hy‘”{} 550, and 728 leaves the same Tmmﬁﬁr""_'-__.

Phgsecicd (B) 222 (C) 22 (D) 212 20

) 335 e
R ;Jm”l?rfmrﬂ | & &e § v uqﬂqwtﬁ:rﬁ‘élﬂﬂﬁln@ﬁﬁﬂﬁm HQ 2
£ i) _{;I
A 335 metes |r,W (B) 80 ferfyeiay () 77 e (D) llﬂﬁ‘ﬁﬁal \ )\Q) 1
Ay h” Iu HE train erosses a pillar in 18 seconds Find the speed of train in km/hr.
S ey (B) B8l
s, B, Wt € 7 |
“Page 11 of 24 B
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- L pmeE.

nfgarttmﬁﬂ‘iﬁmonﬁaﬂmwmﬁlémrﬁzx

: 1 ar 10 / ‘

o et e e T 2 55 fi ®) 157
5 (B) 2 (©) How many days will 14 men and 20w,
3 H,},- 10 women can build ¥l of 100 metres in 10 days: n |
;-.a.lkc to build a wall of 600 metres ? () 25 days (D) 15 days (

(A) 30days (B) 20 days

51 T Foy
aﬁunaxﬁwﬁﬁwzzmmqmmﬁmfaﬁi%aﬂﬂfwﬁmﬁ?ﬁﬁmﬁﬁﬂ oo

66. i 7 k |
W @ v O 6 hours a/day, then the number of hours p,
A) 16 s by working % Per
If 120 persons can finish a work within 16 days eY. ob within 15 days s :
day that 64 persons should work to finish that same ] ©) 12 hours ¢ (D) 15 hours
(A) 16 hours (B) 17 hours wg%?ﬁ%ﬁﬁﬁum%ﬁm%ﬁmﬂw |
T o G a1 A o —
h‘ .@; %.g-q.ﬁ ?Tq—m am‘ q;\a- WW% ? f'.u" :
S (ST TR A € | A IR A ¢ his cost price but LFE% a false weight of 960 gm for ex, |
A dishonest shopkeeper professes to sell goods a ' i ; /
kilogram. What is his gain percent ? 3 P 1 ¥
3 | =0 i D) 9 -%
® 5% ®) 45% TRl -
o, S A S T 7 15/ 3k % 20/fhel 1 B ATt 3 SR <t <t i fope ST A kLl
1 % 16,50/ Fret) 1 i el @ o (HEor ST fH Sl S
In what Tatio must the grocér mix two types of pulses costing T 15/kg and T 20/kg respectively so ¢4 |
a mixture of pulses costing T 16.50/kg ? ; H, ‘
(A) 75 (@) 5 (Cy#73 By 37 " \
69. T G 3T A I S 150% T 3HFHT HA & I 40% BT AT & | 7 HF qST T 1,600 2, T |
TR ? B K A wo
A retatler marks up his goods by 150% and offers a 40% discount. V\{h&t will be the selling price if the ¢
price 15 % 1,600 7 i } N
(A) 2200~  (B) T2:500 ©) 3,000 . @) z2.400 (AY \};g il

20% =BT 1Y FH70 2
By selling an article for 4340,
a profit of 20% 7 h ‘ =
(A) T640 w VT
- %Wﬁwﬁﬁm%:&aﬁq ©) 600 H (D) T664
ST 377 1500 b gy S SOLR 1 7 st e e e 10,000 o0 C

The averdge momAy<g s T gy 2 550
: of ; 1
7 workers is ¥ 10,000 and ;);eragtlée orkers i & works op is ¥ 8,500, If the average monthly salary

O )1 mo ; .
workshop is ; nthly salary of the rest is T 7,800, the total number of workers in 1,

70, qaﬁaaﬁaﬁﬂsofréaﬁ‘wqmwﬁﬁ#m%ﬁﬁrﬁﬁﬁ%t?&?ﬂ HHd |

a man incurs a loss of 10%. At w p,iffcef hould he sell it, so that 1t makes

(A) 24
(B) 20 - |
72, =g 6 FHTTE 59§ x (C) 22 . J Dy 18 e, b |
Ifthe average of 6 Eonse:lrtive eviﬁE ’ A G e mméliéf{;l"} e I 6(1‘:;)
( n i i ey |
< Uf: 194 B 176 umbers is 183, find the smallest riumber, _:l_/ §
% faeer = Z,SEOIWW%ME} (C) 181 iod (LTS : ‘

A;ﬁwmmtlm&?%%ﬁﬂzaﬁwaa“ﬁmuﬁra&ﬁm%aﬁfkﬂﬁ

01.2' er I?orruws?z,sthbe ) ﬁv‘tﬁ’[ﬁ"ﬂ?

ok Years in two equa| yearly Paid bagk v,

Wimar %1203 NStalments,
5o B B g

-
b S
-----
.....

: ! d
ith compound interest at the rate of 4% per annum by the o |
How mugch will each instalment be ? 2
(C) T1,275 (DLX1352 G N

_______________________




CoBRA ity frwd qfer

(A) aanTgﬁ §TH B femefem UepyTs
(C) Hee werforgy RALEECToR .
CoBRA is a special operation un\n of

Cent
(A)  Commando Battle fi We

& : I Recoiling Action

;\ (C)  Central Battalions for Radical f;.ction
36, |

b Wummﬁw%qmﬁwm

(A) 8 o (B) 12 Sat}

On which date is Internation

(A) 8" September

T 6 e fidy aafirar g # | 56

al Literacy Day ob

(D) #Hget
ral Reserve Police Forc
(B) Commando

(D) Central Batta

27
(C) 208

red ?

it

{lﬁ}-mﬁaﬁﬁw‘{ﬁ!@“

o, What does 1t

i TS :

stand for ? ;
attalions for Resol?
lions for Rapid A

(D) 24 T

(D) 24 October

T (B) 12th January O (C) 20th March
37, vt #ft e F des e o -
(A) (B) = 5o7wg “ (C) wfEaTE (D) T
Who is the author of the famous work “Tantralola” ? i
(A) Bhavabhuti (B) Banabhatta (C) Abhinavagupta (D) Dandimn
TS UH.UE, AT Se Fawmee % sian, J5i ¥ s S i #t SERERUEIEL
intly =R | @
(A) THTHR FAURT (B) CIFFAMTT  (C) FOBHIMIT (D) FOR 3 AHR T
peed As per the IMF Balance of Payments Manual, the import and export of goods should be presented on
p |
: |
(A) Ex Works basis (B} CIF basis (C) FOB basis (D) FOR basis |
39, T=fafaa & fom @sirg) 3@ fifsg | |
Find the odd one out from the following. O E‘:‘; |
(A) TVXZ (B) ACEG Cg (€©) MNOL (D) HILN e 1
40, T H ST AT {19 T e : K54 23
Find the next number in the series. !._] c! —
144, 169, 196, 225, ? {% 3 A
(A 284 (B) 298 <o (C) 266 (D) 256 15 € 294
. iy . ] o : - — !
ﬁ_@ﬁ_m,m_ﬁmﬁ,lzpw@ 5% S T 278 s o
23 B |60 1979 ) T 2 | e s e T Y ey
[n three containers — ycIIOW,_ white and black, 120 marbles are placed. There are tw &2 ﬁ 2o
the white and yellow containers combined as there are in the black Containe A;ce 28 map,, Ma, zﬂ
many marbles in the black container as there are in the yellow container. H T. Also, there s les in -Ei
e ORI - HOW many ma; o '
the white container ? Y marbeg are o CC ag 23 ¢
(A) 60 {B) 30 (C) 40 (D) " thel‘e 111 |
AT A, BRWA R, C, DU TR B. D & CIEE T
42 qﬂ?ﬂ:{%* B,D%) 2 Eﬂ‘m%'D Wﬁ?ﬁtt‘&‘rm%
Among five friends, A is heavier than B, C is §ighter than D. B is Ii Sy
not the heaviest. Who among them is the hcavi@r sy is lighter than py but heavie,
p (A) E (B) B E.;;] () IQ_]_ ﬂ]au ' D is .
" g wredl 1 &1 8 et & & f wrez g ] A ‘
" e (B) @rHl & (C) wreisy b
Pick the :{fdwur:i out from the given list of wu?k".. (D) W@‘
(&) P SN (). JInkEg ﬁs (C) Colombo (D)
A EETPATOTRRRERRE R



O = E.

lows :

jor speciEs
'cr!'{!d 1o Hew®

to be refer™”

}.rt:’d-l'

g inclt®

47.

48,

51.

. . p) Ge &

(A) Fe (B) e FET /
Complete the analogy : o
Pen ¢ Write 1 Knife : ? s el (D)

: - ; (C) Stite ‘ q%
(A) Cut (B) Mix o aﬁ?‘@ mmﬂl’
T ¥ 0 mtéﬁm@w%mm% mﬁ;{f;;' et 6 T
% | e gl 0 S wreemE S

(C) e (©) ¥F

oy ) WY@WW d th:é; the cone that is formed on one side of

A cone is cut through a plane parallel to its base and W& he plane is called _
is moved. The new part that is left over on the other S'1§8101 the p =

that plane

' g one
(A) Cylinder (B) Frustum of a cone {SEE Sphere (D) C
+FT ol T AR U
_wrae g fr g o
. 0
Frfiaa & & e o B fF C, M AT SRT 2 2 o
+ means ‘is the brother of’ :cj }

— means ‘is the sister of
« means ‘is the father of”

Which of the following means that C is the son of M ?

(A) MxN-C+F (B) F-C+NxM (@) N+M—F xC (D) M—NxC+F
o RARIE S 5 3 6T 1 30 e st &, ik S70ere et 36 v e & v snret

i I& 3 & et 20 e A fgaw snar 2 7 9 o YRS for 3

TEHTE 8:00 T I TTE I :
SRl & 120 2 S Feo 12 o o o g 2 lrﬁ]"“ﬁ TS I[E AT B, W 8 et
. (S o (D) T 5 =

A mountaineer ascends 30 feet at the start of each ho
beginning his climb again at the start of the next
he first reach a flag positioned 120 feet aboy
(A) Bpm. (B) 7pm.

maﬁmwmﬁﬁqa‘wfa@qmeﬁﬁﬁzﬁ
Choose the box that is similar :

-t _ :
ur, ithen pauses to rest and slide

hour;,]::f he starts his climb at 8:00 a

s back 20 feet before
¢ the gro Qii' 1

M., at what time will
( (,p.m.
wﬁr@aﬂﬁqﬁ%m%i

to the box formed from the figure of

(D) 5pm.

the sheet of paper given,

-
|




o qammfraﬁqafsmﬁ,aﬂ%ﬁwﬁmr&ﬁilwnﬁmywm%m
3 | 3 3wt P ST S s it 2 T
(A) 33T 3K 4 3pTER By 5 9 32 3w
(C) 43 3R 3 a7 (D) 53 ¥ 1 31wy
The cost of a mango is ¥ 8 each, while a guava costs T 6 each. A woman spends a tota] of ¢ 52

fruits. How many mangoes and guavas did she buy 7
(A) 3 mangoes and 4 guavas B) 5 mﬁﬂgxz z;lg % guavas
(C) 4 mangoes and 3 guavas (D) 5mang guava

53. T i H foree P 8 0

How many triangles are there in the given figurr:@

on lhc\_e

%L1& %O

@

(A) 26 (B) 29
S ¥ favH (SW11) T e |

Find the odd one out in the series.

9/27 (D) 28
£S5, 19, M13, P17, U21

) 1o (B) P17 Q) © u21 (D) E5
o o et 3 e & sfmen o e i ()

Find the next figure in the series from the given @?ions.

PURSININS|
= B

sttt

b

2 min{f)is' placed at XY.

3=

°D€5 |
Y ,&? g

-

L i o ke b ik L e o o e g g SR TR
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b
: Fra Fle |
74, 2t A 3% TCE 10,000 % frg s af ot AT ﬂmum nacl
Find compound amount and comipound interest for ¥ 10,000 at 3% Mt"-fbﬂpm D) T10608H
(A) 10309.T309 (B) 10,509,£509  (C) 10,409, : m
A safedt 7 A TSI 10 - 6 3 37 =70 7 A 18 - 10 81 T T AT T 5,200 IR
& At s a2 4 ey € 5.200
The ratio of income of two persons is 10 : 6 and that of their expenditures is 18 : 10. If they save £ g
and ¥ 3,600 respectively, their incomes are : i
(A) TQ000, 25400 (B) T6,000; T3600  (C) T10,000; T6,000 (D) T16,000; W ’
76, 12% HTTOT ST 3 9T 3% 10,920 &:‘W@ﬂﬂﬁﬁﬁmmﬁ&ﬁﬂﬁﬂm" . e
What annual instalment will discharge a debt 0f 10,920 due in 3 years at 12% simple mww _
(A) %3250 B), 22750 * 38 (© T3,000 (D) 2,500 4
MRS +TH MRS, THRard; s - Tam RS, THaEIR S % THF LS, T AT BT
e & S, T 4% &, i Fretferfiaa & & .o ol 2 v ), K raamd 2
If S + T means S is the father of T; 8 »Tmmr[;} is the sister of T; S % T means S is the mothe
S % T means S is the brother of T, which of the@llowing shows that J is the paternal aunt of K 2
(A) KxM+L%J (B) J-L+MxK @ (C) K%M-L-J (D) K+M-L%J
78. W IsE 91 Aife |
e : AT -2 F1geT - 2 [
(xfk) :ﬁFlT' : (B) drem (C) Frem (D) :|1'(1ﬁ4“
Find the missing word. i
Apple : Red :: Coal : ?
(A) Blue (B) Yellow 8 (C) Black (D) Orar
79, ﬁqwm%wmaﬁﬁmm%|
'fﬁw:aé:;? z EQ
(A) B - TFT L @) fron. s
(C) Zaw: s % (D) R gt
Find the correct alternative on the basis of the éﬂzn relationship,
Fall : Pain :; ?
(A) Laugh: Cry ® (B) Fall: Step
(C) Dlsobedrence:Punjshment (D) Food g'Happy
STE, T, Qﬁ-ﬁt W}? i
(A) e B) afsat < fow
Find out the relateq Word._( ) HIsST (C) s (D) d&
\ R_:Of, Trunk, Leaves, Fruits, ? O
i (B) Vegetables () (C) Trees O Pl
/e T L | |
Map : Dircctions ;. gy . |
(A) Natrg Sl a2
NZ3 T @) Poedie. @ () Cownls @) st
B Page 13 of 24 g
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LE

o

0 s

o
[ \'I.‘llue

et 2001 & T 2002 T

UE ﬁ,ﬁﬁﬂﬁﬁmﬁmmaﬁ%ﬁﬁmﬁl

E‘:Efm X 1 T BT $ STt et § & S § 39

oyt 7 7 T e 3 qwtar |

In a school, periodical examinations are held every I8 %
April 2001 to March 2002, a Class IX student appeared in each of 1h656
below shows the total marks obtained by the student in each periodical exam.
e i T § S Fe 3 = 500

two months. During the a,cadeﬂ'ﬁ“
periodical exams. The

4107
400 -
390 -
380

370 4

L
=

& 3HE-2001 SH-2001 IFTA-2001 3FFE-2001 feHaw-2001 FEh-2002
Apr-2001 Jun-2001 Aug-2001 Oct-2001  Dec-2001 Feb-2002 [

ST 2001 3T HFHE 2001 F Araifereh waqnadi § W FIT YTH 3R =1 SI9T =01 & 2
What is the percenmge?fﬁ:a marks obtained by the student in the penodma] exams '
October 2001 combined ? :

50 7%

(A) 78.5% (B) 75.5% (D) 73
ATfeTehT 3T LI il S R T qwT F1 HIfC | [‘;;jl
1 12600 +20% 10%a%] W R
2 12850 +25% 15% = % S
3 12570 —30% | 12% Y- 5 P e
4 12200 ~ 10% 20% Z :
) 20% B) 18% o) 8% ) 1
Study the table and find the yalye for R ® 4
Asticles | Comt | i i
65 | Cost | Marked [ Discount . Selling | ProfiLoss%
__T__qj_n_cgﬁ Price I} Price '
b | 12600 | 209 e
: __Lr 10% =.] e R
= e ____‘59__ +25% 5% o X S
__¢__q______39__ =30% 2% @ Y A%
12200 :




o a0k 43 ¥ 1 L, M ¥ 3T T g
it s amEl B AT g A A3 81 L, %
v m'aruhw. =RE o AE |
v N AR :r‘ : it el ST FNA Aar "
by B |

L ¥ drc oo Ty ¢
5 I ulw l 1 T

e e (RIWE) TS ‘!L|l|:”\ al le facing O I 1

{ (), -.arg g a | a 1 1

MM n

I i N oa

: diate right of |
he immediate right of O. Who is sitting to the immet

i b y the « . i

f 1ol M. N is -.E!Illl'”H c (©) N (D 1 .

ed e I I'y e . 3 -3 ) * I_rr;ﬂl "\__':u.':~,-_._

' pfiagrd s C. BRARID, CHFfaad s E, C 5

va: GREH H, \ i

b )
ATEIT F

21

4 qeh D), A1
(B) 9% (C) M (D

e
family of five members, A is B's sister and ["_i.-; B nitier s C sixier dnt Bt other, | JI :
\L i ':.:':I:IL:III:_‘l“l_]] (B) Daughter-in-law | | (C) Niece (D) Granddauehte; ;:{-,
SEE e rgwmﬁmaiﬁnmw%mﬁl A . T:
A . efamey - 2fRe - B hp Sl
\ ) A FEE Y - G@l-al j..',_ (B) TST#HY : M e r)"i {\:
(€) ST ; (D) FFI: FHHT 5 e \
From the given options, find the pair which is similar to the given pair. !
[ Dair - avis : Tennis
”ilL-llILI-rth.\n [()':lxpl;{i{;::—i(]!m (B) Ryder Cup : Golf _.0; ’B G |
o fames Cup : Car Racing (D) Cue Cup : Snooker . M /
I 140. FEHH 9T F79 Hifeo | -+ 2= % 3 g 0 N
d the dissimilar term. -
ACA, BFB, CIC, DLD. EOE )
~ (&) EOI (B) ciC Ll © pLp

(D) _BFB

g3 Im“rarn?mﬂ I*Roﬁr*rm'é‘qal PQ &t et 7
B ST i Harrd o 2 o
(C) 124 (D)
88 :h&iﬁ'm-ir_c the le
by 14 em. The peri

T3

{\;jl_ ELES OR 4. h*ll]{???ﬁwpuﬁm%%
14 T 1JJj'"‘FFi<~?m?‘ffﬂW!’QR5rplWﬁ
(A) 14 & (B) 11 4dt

POR, length of the side QR s le

exceeds the length of the side PQ
Side of the tri: I|]"|L P{‘)R 18 ;

(A) 14 em (B) 11em
182, U fAfosq vy i
I” 4 Cort: ||],J||

In trian gle |
side PR

10 Feft
ngth of the side PQ by 3 em. Length of the
meter is 55 em. The length of the smallest

(C) 12 em (D) 10 cem

AR 3 3 IH_*WH%@TEHHT%I'WWF FUR %1 &% femarsmomr o 3 |

guage, CAR s Writte

(A) 63113 nas 3118. How will FUR be written in the same language ?
(B) 6,;9!, ) () } 99] 16 ‘-]'_“ 37912 -
143. 72 6 31957, 3025 ou a
. ! .- FTF‘TGTTS’H ;ﬂ'ﬁ\-ﬂ-ﬁa 'ﬂ'”jq_ ﬂmmaﬁq—_mﬁqmq
L A (B) (C) IFam (D) wfam
What was the d. 1y of th of kA
(A) Monday € Week on 61 ‘S‘PH] 7’()241? th April, 2023 was Thursday ?
WAy Mona:
(B) Tuesday @ (C) Friday (D) Saturday
HHAH W=7 719 Fifaw | .
l__!i_hl}.hc dissimilay Number
P 120, 540,
- (A) il rH ~ ) e
A D 'L”__f() s LT __{_n} 540 e IV.za

Page 20 uf_i.; - e



TIEEERETTY AN T—

el HiEes AE T 42,500 2

- . it | afy e
145, afﬁ-fmnmmg’ernfu;strﬂaﬁéFﬂﬁm*’Wq
e mmﬁﬁﬂﬂ*ﬁﬁ%ﬁﬁﬂmwﬂﬁml
gfam &1 =99 )
12% 0 '1
o
]' |
5 Fafereat 25% Lj bé J.
¥ o
%('?., ' i 3l.-:n (Ei“; ® -(l///
e A 32 . e
& I g
L
":'—;H y\ T g T
2 % 18% Y
{ 23% e + N
' = (J \ W)
Ny \ B s ~ d-:,_,_,‘_——*
-2 ](@
C ) an <
. i
/ Wﬁm%mmﬁiﬁ_ﬁﬁwmaﬁmmﬁaﬁqﬁaﬁﬁgﬂnﬁm HATEA L :
(A) Z27.860 (B) 26,580 o2 (C) 24,650 (D) %25.075
] p
The pie chart given here represents the domestig/expenditure of a family in percent. Study the chart and
answer the following question if the total monthlgincome o f the family is T 42,500,
Expenditure of Family
M Provident Fund
12%
v the I_i
allest Food 'l-"“. l
|
Medical 25% I{:{ﬁ
13% ]
(V=
Child _\ House Rent ) .
Education | S 18%
23% & o}
=
o] o

After deduction for Child Education and deduction for House Rent,

remains |
(A) T27.860 (B) 26,580




128, Farfrey e & st afer wifs =t eerefy yae dAT et ?

T EF
e 9 FAT
(A} wied ST I 1S el F Uge weh (B) T

T
iy ; o 34 &0
(C) , e 7k e STTAT-STAT A Tk o (D) R
129, ma}mmaﬁﬁﬁmﬁwm%]
w Sop o (B)* EET A
(A) W& EER : aﬁ"rqﬁﬁ?ﬂ
2 e YD) HTT"IFIT
(C) el | B B
- 130. Ffeate qa s F o A 8 2 o
el T 8 - A Tocd] 59 S
" ' (A) TSR AT [ (B) Sk
(C) , BTETHR 7 ST (D) s L
131, THFRUEH AR L b
'DRIG
(A) T (B) o1 HEAl ™ {0 <ATer (B) el ‘{; /%\
i 132, e S el W ftum 2 "
(A) TERHIEE  (B) FERWITAT (Ol HTET (D) s e T ¢ R
133, s sred o e el 0 2 At aw d e o s A w2, S 60% g 45 e # o I al 55 fire
T AR, el e o ar g it 80 fef g
r=sofefiafeaer (B) gofEfufrser o () e fEfRivfader (D) 48 foedt uftr ser
What is the average speed of a man who travels between two cities, covering 60% of the distance in
45 minutes and the remaining distance in 55 mmutu where the total distance between the cities is
80km ? :
(A} 50 kmph (B) 49 kmph "‘_=.—_' (C) 47 kmph (D) 48 kmph
134, T a4 =52 i g8 sm :mﬂ%ﬁmwma mﬁmﬂﬁgﬁm?“ = R si gt 0
Al _gfi 4
(A) STl (B) sfégor @ (©)
106k with the ] ; Sk '
A clock with the hour hand pointing West at 3 p.m. will have its minute hand -1 -2
: - b L
=] towards : ¢ at a3 S pomnting *
L {A) North-West St
e (B) ‘SUU”? (C) East (D) North-East
135, = faei *[F‘Togmaﬁmmﬁm ST g %qmﬁzﬁmmﬁam_wg}l
Py ﬁ’JTWf:IE:Hﬁ 25, 9) ;
e Find the set of numbers a
mongst the four optioris! t]'ldt is most like the set oi : "
) Set given : (49, 2 ) i given in the question,
=of =
dl (A) (64,27 8 B Tt ;-\; .
136. Aqﬂﬁ"["l‘fi"r_r:r;[hn L 20, 13) { .[()’ (36, l(:. ) (D) (36, 25 15}
29 e, a?ﬂifqm-mrﬁmﬁ Mﬂﬂ%%lmsﬁrmmﬁ@ﬁ Aﬁﬁﬂrm
%) (B) g (), T g
A infrodyce B sayin bt (D) Trar
g “He
as 4 male Person, € 15 the husband of the granddaughter of the fath
som, | ather of my fath; ,!ggm
_____‘_’_M Euu\.m 10w js B related to A 9 ¥ e, i 5
.1\l.'{-24 h.-_-hh_“'-—-_E_‘H_]__[_illjl_h}_r ff_] ]“}I'{'lil'll;‘!'—i'r]_lu\,l; (D} Ci-ran 2
e iiarad =



98,

A 10 ®) 17 o0

igﬁ@gﬁaﬂ(mq:ﬁaﬁaﬁ’{% feaf = &, ﬁaﬁmﬁmﬁwﬁm

e (B) df=H (C) S| (DL
I'{j Al . are initially facing North-East and turn 45 degrees to your right, what direction are you facmg "
(4]
t-": South (B) West (C) North (D) East
ﬁm%ﬁdﬁmﬁ@'ﬁqﬁmﬁﬁﬁﬁq! |
Find the missing term in the following series. _
361,289,169, .49
(A) 81 (B) 91 O (©) 125 @ 121
Ww&@mqﬂmaﬁﬁq st Feferfias gea
A\ TS srafe g
|
w7 (15\ 50 ) Q) & safrarhdry |
L |
% 155 srafromdad |
fever = il i o ®
(A) 10 (B) 17 ©) 35 D) 7 |
Examine the given diagram and respond to the following question. |
25 A —> Persons who drink tea
20 / 17 (ls\ 30 | 40 O G Persons who den cofee |
7\ 20

]
) |
. &
20 Er Persons who drink juice

W many individuals drink all three ?

©) 15 D) 7 |

|
ety &, mﬁﬁqmm%ww@mﬁmﬁ%mﬁﬁqw%laﬁﬁwwﬁw 1
W%WWqﬁmmmm@wﬁwﬁm |

e w1s2  “GENTLEMAN®

In the following question, you wil] find four other words provided as alternatives alongside a give? "
One of these words cannot be forme

d using the letters of the given word. Identify that word.
GI'\-’ED word : GE'NTLEMAN”

1
(A) GENE

(B) ANGLE (C) GLEAM (D) MAGNET |
o g | Q 11,
F11| in the blank. 3\ |
(B) 20 : D) _15 -

T o ) EJG(C) 25 D
115
(B)  afera 52 () amEn (D)* aferet |
R W i g ® 1

e ®) T © fay e e
BT i




oot B @ T w1eE I C 1

116. e B) (C) ¥ (D) &=
s e i e e 7o 5 S I Ee .
(A) » THF (B) @ (&) (D) UM
118. ﬁmfaﬁaﬁﬂﬁmamﬁ‘mm’mmﬁmqm%?
(A) T (RS TG R (B) STeTh aIgd A 9 U &1 8 |
(C) TGS R | (D)o AT A A 7T 2 |
119. ~ﬁwwmé@ﬁ,mmﬁ@wﬁ¥@ml'ﬁﬁ%ﬁﬁﬁﬁaﬂmﬁsﬁaﬁaﬁm*%
ve2 =1 faem 7t 2 7 Eu
(A) Torsdor (B) fermerdor E (C) TN (D), FATHET
120. ‘T FHEAY-EE w2 mﬁ i
(A) -+ e B) # [ (C) B4 (D) et + 319an |
i
121. Foaw 4 e adam s a2 2 o |
(A) FAIAFTAT @(B)cﬁ‘@%m%qamil |
(C) aFs Heet s (D) SETHTE T g | |
122, S =T H GE U B
(A) FURZYT AT (B) SId1 3l SHFER SHT
B (O) FHE : /- (D)o T FHET
T 0T WA 7 e e g £~
(A) .W—E}ET (B) EE'ET—HWET E:;{:L‘: L8P Ehg‘r__‘(—.ffg'{ , (D) a-g(_gaa-l- 13
4. T q T gE AR Ll
(A) o S T HGAT » % () U o W1E I 3G a7l 2 i g
5. A 2 3 i e e g 134
{f" L (B) wI™ " (©) gFE (D) W |
- 9T T o B E 9
M (B) 39t fipzisa (C) , 333 =TT (D) Sl
127. ﬁﬁ%ﬁaaﬁﬂsﬁq.mimsmmﬁ?
(&) =g (B) feq () (©) = (D) #eT 136,
Y. 9. 128 % 132 wertyr wyy | ® |

Egﬁﬁ%mmwgm%’ﬁwmwaﬂrmﬂm|Hgam%ﬁazﬁ%ﬁﬂﬁ;f
o1 s e g T 8 1 3 o e o s 7§ 2
1S Sy e O ot SB A S & offr el @ o & | T AL
T nf TG " 0 A g &) afy m%mmmmmﬁﬁm@
“‘ﬁﬁa%?qglm&ﬁﬂ WIS 3 31t e nfe et warer ape ot  fo e g 8 +f

I{fﬁ‘;;---ﬁ-_ﬁ.'v__ & 2
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L) ®
. Y v ?.f’h}
Tot el s
J,Irl': 4200 T 0% + 2400 =Rl 35% 4200 =1 X% %. ﬁ' X mtﬂ:rmﬂ' ?ﬁ | |

J]['[L‘J“H”C the v alue ol x “h_‘!““ﬂll of 4200 + 35“./“ 05'24{]{} i xn/" Ur42“ﬂ‘ ri
(A) S0 (B) 40 s

146, $ 5 |
nd the value of X. —_

, () 48 D) 45

IRE
TS D ZR SEIT ¥ A F HI SHER 00y 89
An o L4
(A) 724 (B) 684 ey a8 (D)a78.2°
Examine the given pi i
ine the given pie chart regarding pr-:)ducu?n]of steel by five states and answer the following question
State A
od
StatelB/
4;'_7‘:': 2w
State(C) % ?
State D %’]_,
State E.
What i tl N |
# atis the central angle that corresponds to the production of steel by State D ?
N aﬂ%} 724 (B) 684° 28 (C) 5820 (D) 78.2°
+ % MONKEY 1 0QPMGA 3fit ZEBRA %1 BGDTC % %4 # ified a1 e &, af DEER 1 5 77
whitse ferar s by ’
: flhy
If MONKEY is coded as OQPMGA and ZEBR’F&'FS BGDTC, then how will DEER be coded ?
(A) BGGT (B) OQGT 75 (O) GFFT (D) FGGT » :
149. 3 31 o0 & 3 o1 s 30 Pt et = | ﬁﬁﬁ'ﬁuﬁnaﬁraﬁfﬁmn%ﬁwﬁnﬁmﬁwﬁ“
qS# 10 fopeft e | aiaﬁqjaﬁiaﬁtggﬂﬁﬁrzo‘fgmaﬁ@ﬁa | s e d fore e A e g
: yA ) ufvam (B) aféor (©) ‘1?; ) s i
L] From my hpuse, I walked 30 km to the North. Then I turned West and covered 20 km and [hc”,CL“:-.,_"
10 km turning South, Finally turning to the East, I covered 20 km. In which direction am I standing ™
my house ?
(A) W Sqﬂ (B} South (C) East (D) North
150. q@;ﬂ 12, 36, 80 F1 9 fifao
Rl L O e <) 4l
Cnmplc}ﬁl—hc series 2, 12, 36, 80, y
_____ (A) 120 (B) 140 (C) 130 (D) 150
A e R b L I W Ak e S R el e e SR RS SR TR RS e R e T
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